NTSE (Level-1) Exam. November — 2018

Part — | : Mental Ability Test (MAT)
SET:A

gdolc HHiH T

3foyHoIRo HHiD

W ((qzﬁ 15[) . Booklet Serial No. &

Roll No. (In Figures) O.M. R. Serial No.

ITgshHich (QTeat ) -

Roll No. (In Words)

OIS s Bl A

Name of Examination Centre

Rt BT AT Fgeft & TR :

Name of Candidate Signature of the Candidate
¥ e GRaT 7 geo] @ e 4g | T P G 100 7 2 hours
No. of Pages in this Question Booklet No. of Questions Time

fleTd & EWIER / Signature of the Invigilator :

argeff 1 10 frre &1 9T gEA-gRadT Iv B9 A5 #) UEH, JT9-UF §heic A oV TV gT @ HIRIST TR A% H¥H aer kT xS P forg faar
SIYIT | e JT7-UF JHele d gedl & HIRIeT T/% Terd B9 & @l gead B SEflerd W (9T B YT-UF §hele §qe o | GUET A §F @
Tearq HIE qraT PR T HIT TG §7 10 fAAet & sfaRqT, geEl @ SR IF G fbd BYH B forv Q¥ 2°ES T W fIFT FI9IT)

gl % forv A -

1. JNTHAR. IR TFh 59 WIeT JRAPT & =R AT
2| W9 oMUd wWem gRAa®r Wiaw B FHET Wi,
Tl SR TE [P &R 99 q Hdd Al /Bl
dicT Wrge U9 I faavor 9¥ |

2. e @) @Y 2 g § vd Wia gRadr d 100 TR
2 UG U TS G B 2| PIF EUTHE HBT
T 8

3.9 U8 W fAwRvr qifdd &1 @ SR Hd W
e @ & fau dad el /@t dfd @ige 99
BT TN | e ue-gRAdT F AT FRA U
IR UHAD Pl R H AT &)< | gAY FIF-GReaaT
W gerT T8 1 et |

4. 78 W YAREm ax o & Wer gRaer w96 iR
SR UAD PHID U © € | R I§ A= 8l dr awgeff
T UA-gRA®T 3R TR UFE o & oy widerd
DI I AT I |

INSTRUCTIONS FOR THE CANDIDATES :

. The OMR Answer Sheet is inside this Test Booklet.

When you are directed to open the Test Booklet,
take out the Answer Sheet and fill in the particulars

carefully with blue/black ball point pen only.

. The test is of two hours duration and consists of

100 questions. Each question carries one mark. There is

no negative marking.

. Use Blue/Black Ball Point Pen only for writing

particulars on this page/marking responses in the
Answer Sheet. The candidate should remain careful
in handling the question paper and in marking the
answers on the answer sheet. Another booklet set

will not be given.

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately
report the matter to the Invigilator for replacement
of both the Test Booklet and the Answer Sheet.

a?e:ggﬁﬁwa%ﬁﬁﬁvwwww
A

Note : Read other remaining instructions given on the

last page of this Booklet.

Downloaded from cclchapter.in



(3)

PART - I (9T - 1)
MENTAL ABILITY TEST

ifgd NvIar TEoT

Questions : 1 to 100

1.

2.

In the following series of numbers,
find out how many times 1, 3 and
7 have appeared together, 7, being
in the middle and 1 and 3 on
either side of 7.

2973173771331738571
377173906

(1) 3 (2) 4

3) 5 (4) More than 5
Direction: In the following
question insert the missing

number in place of question mark

from the given alternatives.

6 40

(1) 54
2) 70
(3) 72

(4) 80

NTSE(Level-1) Exam. Nov. - 2018

Time : 2 Hours

1. & T8 ge gEge § fhad ax 1, 3 4

7% IR 2 & 7 99 & &
qI 1T 3,7 % Al A ST B |

29731737713317385671
377173906

1) 3
3) 5

2) 4
(4) 59 3M®

gF7ey : Ae [Ru T 9r faeed § 9

S foseq 1 gT S RT MU oge

T g fored & WM W 3T b |

(1) 54
2) 70
(3) 72
(4) 80

P.T.O.
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3. The following questions are based

on letter series in which some
letters are missing. The missing
letters are given in a proper
sequence as one of the alternatives
among the given four alternatives

under the question -
b—abbc—bbca—bcabb—ab

(1) acaa (2) acba

(3) cabc (4) cacc

The numbers have been arranged
under some rule. Based on that
rule, which number will come in

place of the question mark ?

4,5,8,17, 44, ?
(1) 102 (2) 104
(3) 125 (4) 110

In the question below is given two
or more statements followed by
two conclusions numbered I and
II. You have to take the given
statements to be true even if they
seem to be at variance from
commonly known facts. Read all
the conclusion and then decide
which of the given conclusions
logically follows from the given
statements disregarding commonly
known facts -

NTSE(Level-1) Exam. Nov. - 2018

(4)

TF Ble e B @A & T TS
o MiEd FHOH B BB e gE
A qa g1 R T femed § 8 o
F TH W T eiey fd R
I & Qi @S T -

b—abbc—bbca—bcabb——ab
(2) acba
(4) cacc

(1) acaa

(3) cabc

et Rl e & emar W R
T ¥ S Y emaR W yeearas
et & ®F W 3-8 gl
ST ?

4,5,8,17, 44, ?
(1) 102 (2) 104
(3) 125 (4) 110

frifeied 99 § a1 a1 oA qeraei
% ueag & el 1 9 11 fRu g )
HH F1G T H @ A TR R
T & gl W ERG i
Frepdl b fEiRd #X -
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Statements :

No giraffe is a leopard.

All leopards are kangaroos.
All kangaroos are wolfs.
Conclusions :

(I) All kangaroos can never be
giraffes.

II) All

wolfs.

giraffes are definitely

Give Answer
(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If

conclusion II follows.

either conclusion I or

(4) If both conclusion I and II
follows.

. Identify the figure that completes

the pattern (x) -

/\

/\

\Vi

®)

VIV IV

D @) 3) (4)

NTSE(Level-1) Exam. Nov. - 2018

(5)

FFT -
F3 A PR dga T 2
a9 JgL, FE 2|

aeft Fe, AT B |
fresy

@) T FE FA A BOE @ A
T |

(1) T+ Fore Fifeaa =g & AfeT 7|
gav g

(1) 3 Fr=pd &aq I 2|

(2) I Fr=pd aa 11 2 |

(3) af% e I arem I & FE T
2l

(4) T =R 1 g 11 1 & |

. 98 ST By S R MW YA (x)

B T B -

/\

/\

\

®)

VIV IV

(1) 2 3) (4)
P.T. O.
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7. A monkey climbs 10 metres at the

beginning of each hour and rest for
a while when he slips back 5
metres before he again starts
climbing in the beginning next
hour. If he starts climbing at 8 a.m.
at what time will he first touch the

flag at 50 metres from the ground ?
(1) 4 p.m.
(2) 5p.m.
(3) 6 p.m.

(4) 7p.m.

Which

question mark ?

number replaces the

2 1

j——
7 4 3 2

5 1
5 6 8 4
6 ?
(1) 9
@) 11
(3) 12
4) 13

NTSE(Level-1) Exam. Nov. - 2018

(6)

7. Th 95 U HC % W H 10 HiX

FEAl B qA TH &9 % fqU fqum
A &l Wy A 8 & & H
N Fed § UBd g8 5 Wi fhHd
S 21 AR 98 8 & U "ol g%
F A 50 WX FI @S Fl b a9
el BT M 7

(1) 4 p.m.
(2) 5p.m.
(3) 6 p.m.

(4) 7p.m.

8. U fogd & WM W aM-d1 der

e ?
2 1
7 4 3 2
9 6

5 1
5 6 8 4
6 7
1 9
@) 11
(3) 12
4) 13
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9.

10.

Which the

question mark in the figure given

number  replace

below ?

3 GNQ 8
3 RBS 9
4 TUA 2
2 FPC 5
3 OLH ?
1) 3 (2) 5
3) 8 4) 9

In a family of eight people, lawyer
is married to a teacher and has
three sons, one engineer, one
doctor and one actor. The actor's
wife is a dancer and aunt of Emily.
Emily, the daughter of engineer
learns martial arts with her
brother Joseph. How 1is doctor

related to Joseph ?
(1) Son

(2) Brother

(3) Nephew

(4) Uncle

NTSE(Level-1) Exam. Nov. - 2018

(7)

9.

10.

A

g R & WM W de-a d@en
ST ?

3 GNQ 8
3 RBS 9
4 TUA 2
2 FPC 5
3 OLH ?

1) 3 @) 5

3) 8 4 9

T URAR & AT TR § A
F 4 U FeATUE § AT &l
I A9 T B, FFH 8w SN,
U SfFY U TH A & | A
% U Th SIER © a Tl & =
g1 o, S R oSSR @ gAl ®
HH qE AAH WY FS w
i &1 Sy @ AEE & ag w;

P.T.O.
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11.

12.

Which of the following is the
mirror image of the figure (x)

given ?

0 IJT—%

@ U=

Arrange the following words as

per order in the dictionary -

(1) Tortoise (2) Torrid (3) Torso
(4) Torque (5) Tortuous

Options :

1) 4,2,3,1,5
@) 3,2,4,1,5
3) 2,3,4,5,1

4 4,3,2,1,5

NTSE(Level-1) Exam. Nov. - 2018

(8)

11.

12.

§ R R x) 7R T
99T ufafers HiF-d1 8 7

-
@ =

®

0 ST3

@) E

e
o [>T
@ (= ? _

frfofaa g=al & =y § Ry o
FH & APEAR g -

(1) Tortoise (2) Torrid (3) Torso
(4) Torque (5) Tortuous

fazey -

(1) 4,2,3,1,5
@) 3,2,4,1,5
(3) 2,3,4,5,1

4 4,3,2,1,5
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13. The reflex angle between the

hands of a clock at 10:25 is -

(1) 180° @) 19215o

(3) 195° (4) 197%

Direction : (Q. No. 14 to 16)

In the following figure small square
represents the persons who know
English, triangle to those who Marathi,
big square to those who know Telugu
and circle to those who know Hindi. In
the different regions of the figures from
2 to 12 are given.

~=English

8 %Hindi

Telugu

Marathi

10

14. How many persons can speak

English and Hindi both languages

only ?
1) 5 (2) 8
3) 7 (4) 18

NTSE(Level-1) Exam. Nov. - 2018

(9)

A

13. 10:25 WX 591 & A H ged &0
(veflex angle) o Sf3T &1 &I & ?

(1) 180° ) 1921—2°

(3) 195° 4) 1971—;

fadsr : (Jo Ho 14 | 16 T)

T oSNl H Bl N SIS S A
el @, P TRl S A @
P, TS I A WA A% ARl B oq
gq el S el ARl d el
o 7 o= @1 2 9 12 0F

12

masEEll

14. fhaq f/ dad oo g fo= a1
A ST bl & 7

1) 5 2) 8

(3) 7 4) 18

P.T.O.
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15.

16.

17.

How many persons can speak
English, Hindi and Telugu ?

1) 8
@) 2
(3) 7

(4) 10

How many persons can speak all

the languages ?

M1

(2) 8

3) 2

(4) None

Choose the which

closely resembles the water-image

alternative

of the given combination.
DISC

(1) CSID

(2) D21d

(3) bieC

(4) DISC

NTSE(Level-1) Exam. Nov. - 2018

(10)

15.

16.

17.

e afr ol et @ da 9
qhd & 7

1) 8
@) 2
(3) 7

(4) 10

el @l A i S §

1 1
@) 8
3) 2

(4) ®l5 T

DISC & U=l & &ar uiaiess a4 |
T U famedt § @ T2 faweg sifew |

(1) CSID
(2) DeId
(3) DI2C

(4) DISC
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18. First bunch of bananas has (1/4)
again as many bananas as second
bunch. If the second bunch has
three bananas less than the first
bunch, then the of

bananas in the first bunch are -

number
1) 9 (2) 10
(3) 12 4) 15

19. Six sides of a cube are coloured in

the following manner :

Blue range

Yellow

Red

White Black

Blue and Orange are opposite and
Red is on the top which colour will
be at the bottom ?

(1) Black
(2) White
(3) Orange
(4) Yellow

Direction : (Q. No. 20 to 23)

There are eight persons namely A, B, C,
D, E, F, G and H lives on eight different
floors from one to eight. Ground floor is
number 1 and top floor is number eight
but persons do not necessarily live in the

NTSE(Level-1) Exam. Nov. - 2018

(11)

A

18. & & UTh [ H gk [B & &l A
UF YR A AR B AR e b
T T H, Ued T A AN dd &
g, @ TBd T | Il B HE -

1) 9 @) 10

(3) 12 (4) 15

19. U 59 % 6 Y 1 FBR ofga I

g
SISl

o

el

el

E

IS

I A JA Ga [GUd gl W OE
T A FW H S G OBl, Al A
% U I BHE-A1 T BT 7

(1) rar

(2) s

(3) Hadl

(4) dra

fader : (o Ho 20 4 23)

3 @/ A, B, C, D, E, F, G @@ H
- otre Aol § wa g1 e TR
TH § oS B 999 S H AR @ )
T T qI9 HIL B HSTA BN TG S B |
Al I8 STA9H el b Hiial § HAMHER

P.T.O.
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A

same order. Only three persons live
below the floor on which E lives. Two
persons live between the floor on which
E and H live. More than one person live
between the floor on which E and A
lives. C lives immediately above G. C
lives on odd numbered floor. Only one
person lives between B and F. B lives
one of the above floor on which F lives. D
lives on even numbered floor but not on
2nd floor.

20. Who lives on floor number eight ?

(1) B @2 C
3 A (4) D
21. How many persons live between
FandA?
(1) One (2) Three
(3) Five (4) Two
22. Who lives immediate below G ?
(1) B (2 H
3) A 4) E
23. Who lives on third floor ?
1 C 2 F
3 E (4) D

NTSE(Level-1) Exam. Nov. - 2018

(12)

21.

22.

23.

NS T & | T I &l & 7
(1) B @) C

(3) A 4) D

F a A & 99 fhdy =i wd & ?

(1) % (2) dH

(3) U= @ 2

G % fomge = @9 @ & 7
(1) B @ H

(3) A 4) E

I G ) P TEar B 7
1) C @) F

(3) E 4) D
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24.

25.

Which of the

diagrams

following Venn
the Dbest
relation between Travellers, Train

and Bus ?

(1) @O

OOO

e Q0D

Group the given 9 figures into

indicates

@)

three classes using each figure

only once -
=2 | <P |©
=P |

(1) 1,3,9,2,5,6; 4,7,8
2 1,3,92,7,8 4,5,6
3 1,2,4; 3,5,7;, 6,89

4 1,3,6; 2,48 57,9

NTSE(Level-1) Exam. Nov. - 2018

(13)

A

24. HE-GT 3N ARG IR, IS T 99

25.

& G H YT BT & °

(1) @O

OOO

¢ (D

T 9 FEl H owHRE el
MR W a9 @ H A
fagfora fFar &1 G B, SEi%
ST Fad T & a o -

=70 | <P | ©
o P
S|

8
(1) 1,3,92,5,6; 4,7,8

@)

Sb

CE

2 1,3,92,7,8 4,5,6
(3) 1’ 2’ 4; 3’ 5’ 7; 6? 89 9

4 1,3,6; 2,48, 57,9

P.T.O.
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A

26.

27.

28.

Find the odd one out -
331, 482, 551, 263, 383, 362, 284

(1) 263
(3) 331

(2) 383
(4) 551

Find the number of triangles in

the below figure ?

(1) 20 2) 22

(3) 16 4) 28

The words in the bottom row are
related in the same way as the
words in the top row. For each
item, find the word that completes

the bottom row of words -

ant fly bee
hamster | squirrel ?
(1) Spider
(2) Mouse
(3) Rodent
(4) Cat

NTSE(Level-1) Exam. Nov. - 2018

(14)

26.

217.

28.

S T & Bifey S o el @
fore &l -

331, 482, 551, 263, 383, 362, 284
(1) 263 (2) 383

(3) 331 (4) 551

§ TS Sl H Bl i He
g7

(1) 20 2) 22

(3) 16 (4) 28

SICHEI I IC5 B I Gl L o 7 ks | e
T g gy 2 o9 5 S @ dfe
¥ Ru U gt @1 39 9= @ sieu

Rraa = &1 e gt 2@ S -
e TRE | AR
gl | el ?

(1) R

(2) F&l

(3) T (e are i)

(4) feredt
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29.

30.

In the question below an equation

becomes incorrect due to the

interchange of two signs. One of
the four alternatives under it
specifies the interchange of signs
in the equation, which when made

will make the equation correct.

Find the correct alternative :

5+6+3-12x2=17

(1) ~and x

(2) +and x

(3) +and +

(4) +and -

Today is Monday. After 61 days it
will be -

(1) Tuesday

(2) Monday

(3) Sunday

(4) Saturday

NTSE(Level-1) Exam. Nov. - 2018

(15)

A

29. Ru U yeq ¥ 2 WEE Rl @

30.

WEY  9Radd & 9 & R
THERT T B T | U T et
¥ 9 39 faew 1 sifen Prag ke 1o
Fedl @ TR uRakid &\ W
THIBIT |El &l ST |
eI faebeq s T

5+6+3-12x2=17

(1) +qem x

(2) + AT x

(3) +a&~+

(4) + A1 —

A A FHAR 21 Al 61 i & A’
HIF-A1 a” 3R ?

(1) Hear

(2) AHER

(3) Yaarx

(4) e

P.T.O.
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31.

32.

The figure (x) is folded to form a
box. Choose from the alternative
(1), (11), (111) and (iv) the boxes that
1s similar to the box formed -

@ﬁ@g

@ @i1) ) @)
(1) (ii) and (iii) only
©2) (), (iii) and (iv) only
(3) (ii) and (iv) only
(4) @) and (iv) only

Direction : Study the following
information and answer the
question given below it.

There is a group of five persons
K, G, H, R and J.

(1) K, G and H are intelligent.
(11) K, R and J are hard-working.
(111) R, H and J are honest.

(iv) K, G and J are ambitious.

Which of the following person is

neither hard-working nor
ambitious ?

1) K @) G

3) H 4) R

NTSE(Level-1) Exam. Nov. - 2018

(16)

31.

32.

30 fade @1 effer st & e
(x) F ASH TN T T & FHET
-Eﬁ-:ﬁ_

@ﬁ@g

® (11) @)  @av)
(1) Fad (i) 3R (iid)
(2) Fad (i), (iii) A (iv)
(3) e (ii) 9 (iv)
(4) % () T (iv)

fdsr : frefafeq & T SHE’ @B
&9 § T@d U I ¢ |

ure a@fEt K, G, H, R @1 J & &
6 B |

@ K, G Ja H g 21

(i) K, R dur J iy #1

(i) R, H @1 J 39ER & |

(v) K, G qa1 J Heamhie 2|

1 & @ &9 afe 1 O o ®
qer T & Hecarhien ?

1) K @) G
(3) H 4) R
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33.

34.

35.

In a school 80 students have
registered for a singles carrom
Each

eliminates one player. How many

tournament. match

matches are to be organised to

determine the champion ?
(1) 40
@) 41
3) 79
(4) 80

Choose a figure which would most

closely resemble the unfolded form
of Figure (7).

.
.
Moy
.
.

If Z = 52 and ACT = 48 then BAT
will be equal to -

(1) 39
2) 41
(3) 44

(4) 46

NTSE(Level-1) Exam. Nov. - 2018

33.

34.

35.

A

u faemem § 80 fyenfiat 3w @
Thd G IR § USiepeT Heam |
Udh T H U Raars! dret e
S 2| adfasar Meia W ® fae
fpe @l 1 A BT BRM 7

(1) 40
©@) 41
3) 79
(4) 80

I HISl T AP ® B (Z) F @il
ST R T fwed § A BE-E

e 7 = 52 a1 ACT = 48 @ BAT
gq= BT -

1) 39
@) 41
(3) 44

(4) 46

P.T.O.
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36.

317.

38.

How many triangles are there in

the following figure ?

A\

Py

(1) 10

(2) 6
3) 8

4) 5

How many days are there in x

weeks and x days ?
(1) 7x° (2) 8x

(3) 14x 4) 7

Choose the correct option which

would complete the figure (x)

?

NS

®)
@ 2) 3) (4)

NTSE(Level-1) Exam. Nov. - 2018

(18)

36.

317.

38.

& ot ¥ R B wen e

7
/\

X

(1) 10

©@) 6
(3) 8
4) 5

x qaE g x fadi d ol e fed

A B 7
(1) 7x> (2) 8x

(3) 14x 4 7

ffr U faweqt § 9 A-a1 fae
AR (x) B T HT &M 7

?

®)
@) @ 3) 4
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39. At what time between 7

40.

and 8
O'clock will the hands of a clock be
in the same straight line but, not

together ?

(1) 5 min. Past 7
2 .

(2) 5= min. Past 7
11
3 .

3) 5H min. Past 7

(4) 5% min. Past 7

In the given table numbers are
written according to some pattern
and one number is missing. Find
the missing number that replaces

the question mark.

12 | 47 | 21
10 | 52 | 4
64 | ? | 24

(1) 16

(2) 40

(3) 62

(4) 83

NTSE(Level-1) Exam. Nov. - 2018

(19)

A

39. 79 8 9 3 99 fh9 THI W gl

40.

F G wF W @ § O we
Uh T & SN T !

(1) 7 F9F 5 e W
(2)’7aﬁﬂﬂ'5f% fiFe W

®) 7 aaaﬂ'5f% fiFe W

) 7 aaaﬂ'5f% fiFe W

& W oAmel ¥ e R e @
R W fodl T 2 I § uF de
g Bl g9 g @ # S g

e & M 9 IUYH &
12 | 47 | 21
10 | 52 | 4
64 | ? | 24

1) 16

(2) 40

(3) 62

(4) 83

P.T.O.
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41.

42,

If B5D means B is the father of D.
B9D means B is the sister of D.
B4D means B is the brother of D.
B3D means B is the wife of D.

Which of the following means F is
the mother of K ?

(1) F3M5K

(2) F5M3K

(3) FOM4N3K

(4) F3M5N3K

A clock 1s set right at 5 A.M. The
clock loses 16 minutes in 24 hours.
What will be the exact time when
the clock indicates 10 P.M. on
fourth day ?

(1) 11 P.M.

@) 12 P.M.

(3) 1P.M.

(4) 2 P.M.

NTSE(Level-1) Exam. Nov. - 2018

(20)

41.

42,

At B5D @1 o1 B, D &1 foar 2|
B9D @ 1 B, D & 9= ¥
B4D & 318 B, D & ¥R & |
B3D & 314 B, D & 9w & |
fopaer o1 B 7% F, K &t Aran & 7

(1) F3M5K
(2) F5M3K
(3) FOM4N3K

(4) FSM5N3K

U HSl B GHI GAE 5 a9 Tel Rl
T A uEl 24 g9 § 16 fFe 4B
g Sl B, dl 39 gy drdias ghd
1 BN, 59 gE1 9 A A 10 P.M.
1 & ?

(1) 11 P.M.
(@) 12 P.M.
(3) 1P.M.

(4) 2P.M.
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43.

44.

45.

Select a figure from the given four
alternatives, which placed in the
(?) which complete the pattern -

Problem Figures :
> AN
P

DY 2

(x)

Answer Figures :

NN

c e |6 e
Al
(1) (2) 3 (4)
Choose the pair that best

represents a similar relationship
to the expressed in the original
pair or words -

MONK : DEVOTION
(1) Maniac : Pacifism
(2) Explorer : Contentment
(3) Visionary : Complacency

(4) Rover : Wanderlust

In the question given below, find
out the alternative which will
replace the question mark ?

123:132::235: 7
(1) 232 (2) 35%

(3) 253 (4) 252

NTSE(Level-1) Exam. Nov. - 2018

(21)

43.

44.

45.

A

39 fgehed & gHT S gearEh e
(?) &M W W@ W AR/
AT B QA BT A -

THET Bl -

> AN
I

DY -
®

FV AT -

o e |6
A A g

(1) 2) 3)

39 S @ oeffer Rrad q@ S A
g % PEY T Bl -

SICERICREIC)

NN

D

(4)

(1) 9N : Srifcrare
(2) @iteRdl : da
(3) Tl (o) : AT
(4) g : qHT F ST

Ru T feedi & & FA-41 fawed
e o & T U AT P

123:13%2::235:?

(1) 232 (2) 352

(3) 253 (4) 25°

P.T.O.
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46.

47.

48.

If South—East becomes North, and
North—East becomes West, then

West becomes :

(1) North — East
(2) South — East
(3) North — West
(4) South — West

If diamond 1is called gold, gold is
called silver, silver is called ruby
and ruby is called emerald, which

1s the cheapest jewel ?

(1) Diamond (2) Silver

(3) Gold (4) Ruby

In the following figure triangle

represents 'girls’, Rectangle
'players' and circle 'coach'. Which
part of the diagram represents the

girls who are player but not coach ?

Girls — U \—Coach
P la DhoT
s S
— Players
1 P 2 Q
3) R 4) S

NTSE(Level-1) Exam. Nov. - 2018

(22)

46.

47.

48.

AL ER/O-gE, T S S, ™
IU-Yd, TIEH &9 0, @ uived 99
ST |

(1) -9

(2) aRrr-gd

(3) IAX-UiL=H

(4) aRroT-afeEd

I 2R B AT, A B, Fied
IOt T HIOTEG &l O+ el AT &,
@ B-T1 T g9d G 8 7

(1) B
(3) AT

(2) =t
(4) HIOTH

= fomr & Brger ‘wefeal @1, onad
‘Raafedl’ & q°0 g ‘B’ B TR
A 2| fE @ BE-E oAE oA
qefRdl @ wefdid #xar B S %
Rargl § W= ®9 Tel © °

Teiendl — u \— &
P la Baor

s \\_/—i@?'r@ﬁ
(1) P 2 Q
3) R 4) S
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(23) A
49. If A$B means A is the father of B; 49. I A$B @I BT?f, AB & Uar 2|
A#B means A is the sister of B; A#B & 4, AB @ & g1 A*B
A*B means A is the daughter of B F 7, A,B @l 33?( T d A@B F:
and A@B means A is the brother of ?ﬂé, AB &1 ‘ng g1 o fefafag ®
B. Which of the following indicates T -9 T F/ oadd M,Q #
that M is wife of Q ? Tl B 7
(1) Q$R#T@M (1) Q$R#T@M
(2) QSR@T#M (2) QSR@TH#M
(3) Q$R*T#M (3) Q$R*T#M
(4) Q$R@T*M (4) Q$R@T*M
Direction : (Q. No. 50 & 51) fadsr : (Wo Ho 50 Td 51)

Which one of the answer figure would RIES AL GT@%WT T FH | Fed dl T
occupy the next position in the problem $hH U 31X N@ﬁ?ﬁ F q P9 G:I'I'GE%

figure, if the change continue in same T q ?

order.

50. Question Figures : 50. 497 !3777%7%' s
== BIE (== BIIE

Answer Figures : Juv 677%7% ’
DG A\ @ | pla
(1) 2) (3) (4) (1) 2 (3) (4)
NTSE(Level-1) Exam. Nov. - 2018 P.T.O.
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51.

52.

Question Figures :

- - -] -

Co <

Answer Figures :

= = =
——— | | T —=
oY) @) ®3) (4)

In the question below, two words
are given. These words are related
to each other in some way. You are
find the

relationship between the first 2

required to out

words and choose the word from
the given alternative, which bears

the same relationship to the third

word.

Malaria : Disease : : Spear : ?

(1) Wound

(2) Sword

(3) Weapon

(4) War

NTSE(Level-1) Exam. Nov. - 2018

(24)

51.

52.

q97 Bl -

O ca c -

= & —— | ——e,

FV APl

- (] da

— e | |5 —=
@D 2) 3) (4)

fRu T g7 § &1 o= fRw @ § e
e § Rl mer @ Ty ' A
JE & 9= & qET B aEd gy fau
T fakedl A 39 9= # s
Rreer TR o= 9§ 981 Ty 2l |

AT < U -« ATl - 7

(1) 99
(2) TEAR
(3) EER

(4) I=
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53.

54.

Choose the set of figures which

follows the given rule.

Rule : Any figure can be traced by

a single unbroken line without

o L] A
o 2 [ A
=TS
2 /[

Find out from amongst the four
alternatives as to how the pattern
the
transparent sheet is folded at the
dotted line.

would appear when

L4
.
X)
NA || N [ DN || A
o e @ @

NTSE(Level-1) Exam. Nov. - 2018

(25)

53.

54.

A

Ul STl & T & eifey frEE
Tedh ST B TH g W gE b
fT UM /U Qe &M ST o,
T R @, gus /9w XU /e
AR AT A |

o L 1] A
o [ 2 [ QA
NESEEES
2 />

A RS B (x) B OfgER @
W Al SW @ Ry U feedi § @
ford faehed & STgam fed 7

L4
.
X)
NA || KN || AN || KA
o e @ @
P.T.O
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55.

56.

57.

In a certain code BOXER is
written as AQWGQ. How VISIT is
written in that code ?

(1) UKRKU (2) UKRKS

(3) WKRKU (4) WKRKS

The first unit contains two figures
and the second unit contains one
figure and a question mark. Find
out which one of the answer figure
should be placed at question
mark ?

Problem Figures :

Qo

Answer Figures :

Q)

D @)

7

olk
(HLP

(C) R C))

If: 3+9=31

15+27=95

18+9=36

then, 12+27=?

(1) 94 2) 14

(3) 49 (4) 53

NTSE(Level-1) Exam. Nov. - 2018

(26)

55.

56.

57.

Ifs fREl Gidefae AT § BOXER &
AQWGCQ for@r Sfrar &1, ar Idr s
T VISIT # &9 forar sem ?

(1) UKRKU (2) UKRKS

(3) WKRKU

Tedl IEE A A Sl & 9 gad
THE A U A Ul U e 2|
S oMgfcEl § § BE-9 STl g
g & @M W B =ty ?

(4) WKRKS

THET Bl -
Q00| 7
FT APl
5 19]19:19;
D 2) @ @
7 3+9=31
15+27=95
18+9=36
I, 12+27=2
(1) 94 2) 14
(3) 49 (4) 53
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58.

59.

Choose the picture that would go
in the empty box so that the two
bottom pictures are related in the
same way as the top two are

related -

(1) (2) 3)
Statement: Some keys are
staplers. Some staplers are

stickers. All the stickers are pens.
Conclusions :

I. Some pens are staplers.

II. Some stickers are keys.

I1I. No sticker is key.
Iv.
1)
2)
(3
4

Some staplers are keys.
Only (I) and (II)

Only (II) and (IV)

Only (IT) and (III)

Only (I) and (IV) and either
(II) or (III)

NTSE(Level-1) Exam. Nov. - 2018

(27)

58.

59.

A

ffu U fyeedt & ¥ S9 fo @ wifew
R ol 9= & e @ 99 F 3l
et & a8 e & S o B S
% = ol A B -

5L S () &t

) 2) 3 4)

g : B A, TR 2| B
T, ey 21 99 feae, O 2

sy -

I B T, &« 2|

II. %B Reay, = 2|

II1. 15 A Ry, ot 78 2 |

IV. 3B VX et ¢ |

(1) Fae (D) T (I0)

(2) Faa (1) 9 (IV)

(3) &aa (I) g (III)

(4) Fa () 9 AV) &1 1D 7 (110)
49 RE T

P.T.O.
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60.

61.

If mso ptr kli chn' stands for
'sharma get marriage gift', 'ptr
Inm wop chm' stands for 'wife
gives marriage gift', 'tti wop nhi'
stands for 'he gives nothing' what

would means 'gives' ?

(1) chn

(2) nhi

(3) ptr

(4) wop

Select a figure from the given four

alternatives,
the (?)

which placed in

Problem Figures :

ZZEE NN

C )
N

N

Answer Figures :

L/ L
e

A2

ol

Z

(1) @) 3)

NTSE(Level-1) Exam. Nov. - 2018

(28)

60. I 'mso ptr kli chn' ¥ awd ‘gl

61.

7 fqa® SR o< A, 'ptr lnm
wop chm' ¥ d@d ‘ot 3 foare &
SUerR f3r, 'tti wop nhi' ¥ aREE
S Fm T R A, A e
e A R 7

(1) chn
(2) nhi
(3) ptr

(4) wop

Ru 0 ar fwedl & & B9 A T
geare e & I W) A ?

TFIET TPl -
ZZE I
D
\\
N ?
FTV STl
L/ L P /I //{
I | Z Y%
ey) 2) 3) (4)
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62.

63.

64.

How many quadrilaterals are

there in the given figure ?

1) 10 @) 11

(3) 12 4) 13

Figure below represents a balance,

which symbol replaces (?) -

Q [ /\ JAN
A /\OOOOO
0000 - ?2 ]
o A o A
® O @ []
In a certain code, RIPPLE is

written as 613382 and LIFE is
written as 8192. How is PILLER

written in that code ?
(1) 318826 (2) 318286

(3) 618826 (4) 338816

NTSE(Level-1) Exam. Nov. - 2018

(29)

62.

63.

64.

& T ol § g fhm =g § 7

1) 10 @) 11

(3) 12 4) 13

SICACRCE B MR I - A
g foed & @M W aE-a1 [
(orcfiep) @ ST EERd B 7

O M1 - JAN
A /\OOOOO
0000 - ?2 1
o A o A
® O @ []

fhdl didfae AT § RIPPLE &
613382 da1 LIFE & 8192 fa@r
S &, @ Id Hibigw 9 H

PILLER & {59 YR for@n s ?
(1) 318826 (2) 318286

(3) 618826 (4) 338816

P.T.O.
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65. Which  option replaces the

question mark (?) in the figure

given below ?

i
i
Gl

1) @ 3 (4)

66. There are two statements given

below as premises, which support
the conclusion suggested in the
answer options. You may select
the conclusion that makes the

whole argument valid.
Statements :
I. No film actors are cricketers.

II. Some cricketers are poets.
There fore :

(1) Some poets are film actors.
(2) Some poets are not film actors.
(3) All poets are film actors.

(4) All film actors are poets.

NTSE(Level-1) Exam. Nov. - 2018

(30)

65. = oy MU fmedl § | HH-1 e
g e (7) % &M WX e ?

66. < U@ & &9 H I FIF KU
W 8, S I famed H gEid
et 1 999 w21 oY g
Frepd g9 ®@&d & S @l a® H
o ST AT § -

T

1. %5 fhem Sfmar fhdhex T2t 2 |
I1. 3B fbe #4921

-

(1) %S Fa eH AT 2 |

(2) B Fig eq AT T 2 |
(3) |+t Hfq et A 2 |

(4) T e R &g 2|
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67.

68.

69.

Pick the odd one out among the
following options -

(1) Quiet — Calm
(2) Seldom — Never
(3) Peace — Tranquil

(4) Rapid — Slow

Look at this series : 664, 332, 340,
170, ?, 89,....... What number
should be placed at (?) -

(1) 85
(2) 97
(3) 109
(4) 178
Choose the alternative which is

closely resembles the mirror image

of the given combination.
QUALITY

(1) ONVIILA

2) YTILAUQ

3) YTIJAUO

(4) YTIJANO

NTSE(Level-1) Exam. Nov. - 2018

(31)

67.

68.

69.

A

fu M Rt ¥ 4 o feew @
o S @ et @ f A -

(1) g9 - d
(2) F FA - HH T
(3) wifer - i
(4) g - &

§ T g § yeeaEs fed
W HH-8 e e ?

664, 332, 340, 170, ?, 89, ............
(1) 85

@) 97

(3) 109

(4) 178

ffu T fedl § @ 3@ fowcq @

Bifet ST % QUALITY @& &4
mfcters & |

(1) ONVIILA
2) YTILAUQ
3) YTIIAUDO
4) YTIJANO

P.T.O.
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70.

71.

In this question there is a set of
three figures X, Y and Z showing a
sequence of folding of a piece of
paper. Figure (%) the
manner in which the folded paper
has been cut. These three figures
are followed by four answer
figures from which you have to
choose a figure which would most
closely resemble the unfolded form
of Fig. (Z)

shows

""""" =i
: : @)
X Y
Q 8 Q Q
@] O O
(1) 2)
o
88 8 8 8
(3) 4)
o @) @)
In the following problem of

substraction find out the number
which does not stand for CARE -
CAR

—ARE
222

(1) 8640
(2) 6420
(3) 7531

(4) 9753

NTSE(Level-1) Exam. Nov. - 2018

(32)

70. f3u U ge H O omgfad X, Y 9 Z
N TH GYE RA T OB SAE T
P % THS &l HAGAR HISH 15
T 21 SR (Z) & TIAR B R
FTeT T B | AR BE Bl G T A
o mu fomedt & @ P9-T Tl
S ?

""""" (=i
: : @)
Y
O Q0
o |° 3 @ © 0
(@)
88 8 8 8
3 @
(@] Q @)

frfafad gem & 99 #  FE-d1
T=q CARE % fow @& =18 & 7

71.

CAR
- ARE
222

(1) 8640
(2) 6420
(3) 7531

(4) 9753
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72.

73.

A dice with six faces is marked with
six numbers 1, 2, 3, 4, 5 and 6
respectively. This dice is rolled

three times and three positions are

K>

Find the number opposite to 1 -

shown as :

1) 2
@) 6
3) 5

4) 4

If the position of the first and the
sixth the
'"UNIFORMITY' are interchanged,
similarly the position of 2nd with
7th letter 3rd with 8th letter, 4th
with 9th and 5th with 10th letter
are interchanged. Which letter
will be 4th from the right end after

letters  of word

arrangement ?
1) I @2 U

(3) M (4) N

NTSE(Level-1) Exam. Nov. - 2018

(33)

72.

73.

A

TF U9 % 6 9del W 9= 1, 2, 3,
4,59 6 fodl TS 2139 U9 A O
IR GH T a9l 99 e 39

K>

1% fauda HH-dr e enm ?
1) 2
@) 6
®) 5

(4) 4

I ST 9= 'UNIFORMITY' %
Ted af & B g9 ¥, TEN SEd
e smm 81 6 yER gEl a &
ad aof |, dex aot @ omed adf &
q WY TA drEd a9 B A
Tqd o ¥ 9eq faA S g1 ar 29
WE o H Jangd 9= & a8 O®

T =T o = B ?
1) 1 (2) U
3) M (4) N

P.T.O.
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74. Select a suitable figure from the
four alternatives that would

complete the figure matrix.

?

-
-

@ 2)

()| Qpc

)

3 4

Direction : (Q. No. 75 & 76)

In the following questions which number

will replaces question mark ?

75.

1) 15

(2) 18

3) 17

(4) 16

NTSE(Level-1) Exam. Nov. - 2018

(34)

74. U T 9 foeqi ¥ 39 Sfq fawed

B G ST el A @ g E
Gl

—~ | ?

= | O

o D

@ 2)
)

N

3

4)

fadser : (9o Ho 75 T4 76)

Ru T gt & gedarad fed & ®©F W
P T AT 7

3 6 2
7. 5| 12 |45 18 |25 ? 12
2 3 9

(1) 15

(2) 18

3) 17

(4) 16
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76. 6 18 15

1) 2

@) 11

(3) 3

4) 6

77. In the question below select a
figure from amongst the four
alternatives, which when placed in
the (?) of figure (x) would complete
the pattern.

Identify the figure that completes
the pattern.

X)

e ol 5

(1) @ 3 (4)

NTSE(Level-1) Exam. Nov. - 2018

(35)

76. 6 18

1) 2

@) 11

(3) 3

4) 6

15

77. 39 faoed & T S gsErE R
) & ®WF W W®WW W
HARFRTT /TG (x) B T FX M|

X)

ey

@

Downloaded from cclchapter.in
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78.

79.

What number will come next in

the given series ?

36, 34, 30, 28, 24, ?

(1) 20

2) 22

(3) 23

(4) 26

If M%N means M is the son of N.

M@N means M is the sister of N.

M$N means M is the father of N.

Than which of the following shows

the relation that C 18

granddaughter of E ?

1) C%»BS$FS$E

2 BSF$E%C

B CaB%F%E

4 E%BS$F$C

NTSE(Level-1) Exam. Nov. - 2018

(36)

78.

79.

& T HEen W STl §eA A et !

36, 34, 30, 28, 24, ?

(1) 20

2) 22

(3) 23

(4) 26

e M%N & 7 M,N & 35 & |
M@N #F 31 M,N %l & 2 |

MS$N &7 a7 M,N &7 o 2|

o FEfieg § @ H9-9 =g @)l
el C,E & dEf B 7

1) C%BS$F$E

2) B$F$E%C

3 C@B%F%E

4 E%BS$F$C
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80. By wusing your numerical and
logical reasoning skills please try
to find out which number is

missing in the question below. The

numbers around will give you the

clues you need to solve the puzzle -

1) 9

2) 4

3) 5 4) 6

Direction : (Q. No. 81 to 83)

Seven villages A, B, C, D, E, F and G are

situated as follows :

E is 2 km to the west of B. F is 2 km to
the north of A. D is 2 km to the south of
G. Cis 1 km to the west of A. G is 2 km
to the east of C. D is exactly in the
middle of B and E.

81. How faris E from F (in km) ?
(1) 5km (2) 6 km
(3) 4km (4) 4.5 km

NTSE(Level-1) Exam. Nov. - 2018

(37)

A

80. T TEAE d Mbd HAA B
SUGRT #d U IaT @ {6 Ru U
g H HH-H Hem g g ¢ el &l
B B b fU AN SR A T
deelt & I e s -

1) 9

2) 4

3) 5 4) 6

fA3sr : (Jo Ho 81 | 83)
ad Mg A, B, C, D, E, F @1 G 30 Y&
feorq 2 1o

E,B3 Ufem & 2 fFl W8I F,A S TN
F2fF WEID, G e d 2 fmi w®
BIC,AT=mAd 1T WBIG, CB
@ H 2l WD, BaME & S 4
T R
81. E,F & fhail gl W8 7

(1) 5 fpar (2) 6 f&a

(3) 4 Fp (4) 4.5 @

P.T.O.
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82.

83.

84.

Which two village are the farthest

from one another ?
(1) Dand C (2) Fand E

(3) Fand B (4) Gand E

A 1s in the middle of two villages :
(1) Cand F (2) Band D

3) Cand G (4) Cand B

On what dates of April, 2001 did
Wednesday fall ?

ISt 8Ih
15th 22nd
29th

(1)

3I'd 1 Oth

@) | 17th 240

21’1d 9th
1 6th 2 3I'd
Soth

3)

4th 1 1 th

(4) 1 8th 2 5th

NTSE(Level-1) Exam. Nov. - 2018

(38)

82.

83.

84.

P A G @ A A g e

e B 7
(1) DaC (2 FAAE

3) FaaB 4) GAIE

fT al 7ifal & A9 & A g Req 8 7
(1) CTaF (2) BTt D

3 CawmG 4) Cadu B

@, 2001 H fH-fee Rt @
EREI

1SI 8th
1 5th 2 2nd
29th

(1

3I‘d 1 Oth

(2) | 17th 94th

21’1d 9Ih
1 6th 2 3rd
30th

3)

4 1t
18th 25th

(4)
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85. Select a suitable figure from the
four alternatives that would

complete the figure matrix -

NN\ 7
2 2| [=2]
22| [2]
R
/AR WA WS AN,
L2/ | \ 2 \| /L2/]\2\

(1) @) 3) (4)

86. Ten years ago, the age of mother
was three times the age of her son.
After ten years, mother's age will
be twice that of his son. Find the

ratio of their present ages -

1) 11:7

(2 9:5

3) 7:4

4) 7:3

NTSE(Level-1) Exam. Nov. - 2018

(39)

[1 [\ | v N | LY
[ 2/ 2 \| L2 /| \_2\

(1) @) 3) (4)

86. TH a9 Ued W & Y AT T &
Y W A T A FH AN ugE
u H g AU Y W G A
AT B ST | AN g g o
T AT &

1) 11:7
2 9:5
3) 7:4
4) 7:3

P.T.O.
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A

Direction : (Q. No. 87 & 88)

Choose the correct alternative that will

continue the same pattern and replace

the question mark in the given series :

817.

88.

89.

0,2, 3,5,8, 10, 15, 17, 24, 26, ?
1) 28 2) 30

(3) 32 (4) 35

2,2,5,13, 28,7

(1) 49

(2) 50

3) 51

(4) 52

In an examination, a student
scores 4 marks for every correct
answer and loses 1 mark for every
wrong answer. If he attempts all
75 question and secures 125

marks, the number of question he

attempted correctly, is -
(1) 35 (2) 40

(3) 42 (4) 46

NTSE(Level-1) Exam. Nov. - 2018

(40)

fadser : (o Ho 874 88)
A R EA § gsTaEs e & WM W
PE-T G AT AIfE T F Yed I
w® 7
87. 0,2,3,5,8,10, 15, 17, 24, 26, ?

(1) 28 2) 30

(3) 32 4) 35

88. 2,2 5,13, 28,?
(1) 49
(2) 50
(3) 51
(4) 52

89. TH wiem H % foEmdt & yde e
S & 4 9% g & 9O u@% Toq
I & TF 3 Fre fodr o B oan
3O g 75 U9 & fhU B R 125

3% U fRU E, ar SEW fhad usH
el & feu ?

(1) 35 (2) 40

(3) 42 (4) 46
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90.

91.

Below you are served with four
different type of Venn diagrams
that

indicate a definite

relationship  between  Tennis,
Rugby and Soccer. You need to
find out the diagram which is the

most relevant -

the

morning on the road towards the

Seema started early in
Sun. After some time she turned
to her left. Again after some time
she turned to her right. After
moving some distance she again
turned to her right and began to
At this

direction was she moving ?

move. time, 1n what
(1) South

(2) North—West

(3) North—East

(4) East

NTSE(Level-1) Exam. Nov. - 2018

(41)

90.

91.

A

T 9R - 39 ema Rw o
g o ¢, TE R goa & ded
P HERIT FA 21 30§ BE-AT
IRE Ifaq ey I el Far § 7

4 goe-gue g @ N §8h W
Tl IR FRA & HB TG ULE
98 AU 9% AR g3 S & FP T
U 98 AT &% AR S Sl 8|
HB g T HH & I a8 T
d T AR Y3 SN & aul =@
g FT Al g1 3@ §HA a8 (69
Remd =@ ® W& ?

(1) afaor

(2) IA-U=H
(3) -7
4

P.T.O.
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92.

93.

How many numbers from 1 to 50
are there each of which is not only
exactly divisible by 4 but also

contain 4 as a digit in it ?

1) 5

2) 4

3) 7

4 8

The given figure (x) has dots that
fulfil same conditions. Find out a
figure from the alternatives where

if dots are placed they will fulfil
the same conditions -

DV

(x)
A
» (5A
Y
@)
3) —
. 5

NTSE(Level-1) Exam. Nov. - 2018
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92.

93.

18 50 9% @ degretl § ud fohaen
ded S 4 A g 2 §
qa 39 G H 3id 4 A B ?

@ 5
@ 4
@) 7
(4) 8
& i (x) 7 fig ¥ SN gm
B T o B RU e P & 9
7e A g PR AR R T o
dl @8 Il 9l H T B -
)

W,

(1) (JL_

2)

3

4
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94. Arrange the words given below in

95.

a meaningful sequence.
1. Probation

2. Interview

3. Selection

4. Appointment

5. Advertisement

6. Application

(1) 5,6,3,2,4,1
@) 5,6,4,2,3,1
(3) 5,6,2, 3,4, 1

() 6,5,4,2,3,1

A word given in capital letters is
followed by four answer words.
Out of these only one cannot be
formed by using the given words.

Find out this word ?
NECESSARY

(1) NICE

(2) ESSAY

(3) EASY

(4) RACE

NTSE(Level-1) Exam. Nov. - 2018
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A

94. 99 U U g H HH A FERAG

95.

IToT |
1. GREMET (T3 A H F@)

2. QI&IThIT

3. 9@
4. g
5. femmos
6. AT T

(1) 5,6,3,2, 4,1
@) 5,6,4,2,3,1
(3) 5,6,2, 3, 4,1

() 6,5,4,2,3,1

IS UM & g a0 H TH IF
o ® 389 9R oW g fe o
TIET X & § o o= UAr o ® S
ffu U g5 % ot § W& I B o9
= F BifeT |

NECESSARY
(1) NICE
(2) ESSAY
(3) EASY
(4) RACE

P.T.O.
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Direction : (Q. No. 96 & 97)

In a quiz competition out of 880
participants, 224 choose Mathematics
240 choose

64 choose both Sports and

choose Science and 336
Sports,
Science, 80 choose Mathematics and
Sports, 40 choose Mathematics and
Science and 24 choose all the three

subjects.

96. The percentage of participants
who did not choose any subject is :
(1) 23.59
(2) 30.25
(3) 37.46

(4) 27.27

97. Of the

percentage who choose only one

those  participating,

subject is :

(1) 60

(2) More than 60
(3) Less than 60
(4) More than 75

NTSE(Level-1) Exam. Nov. - 2018
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fA3sr : (Yo Ho 96 TH 97)

U oAl dfodiien § 880 i H @
224 ¥ WO fawg AT, 240 | O qen
336 4 G FA, 64 7 faI A G A
fqog, 80 F MG TuT W &Nl favg, 40 7
o qe fasTe & faE ge der 24 9
[l = o @ g

96. fhaw ufderd ufgarmt 3 &8 i fawg
T g 7

(1) 23.59
(2) 30.25
(3) 37.46
(4) 27.27

fhae ufgerd U@t 9 @®ad TH
fqog g1 ?

97.

(1) 60
(2) 60 ¥ 3T®
(3) 60 ¥ FH

(4) 75 § ®
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(45)

EET T
roae
w T~
_ '/\&5
v N )
2 ,\W@ <t Q0 o —
RS + X
2 2 w E A
S i A Vv o = f
~ W © o + + \W
i ~ = ® o
- P - 1 | - =
5 . <t N (N} o~
w T T Vv + A Vv
" I ™ ™ < o
x T o AT N 8 8 & =
- 'I'/'I /A \
ﬁ E E = ) ) = @ . \\g\\\\\\\\\\\\\\\\\\\\\\\\\\ Z Q * N
© o
=7} (=7}
R E 2
o S
- an o - 0 A %
S w w - g
g . 2 5 8 -8 E
EREE SN A s
5= S, B VR M < 0 o . - F\\\ N
T g PE S8 S 4 x ® o 3 §.§ \\\-
- o (2] oY} |
g, £ 2 a2ag «~ T VY X . - Wi
SET A PEE & o o+ o+ E
) - mn.v. — — — o] Q0 [}
w = - g S B9 I Il N 2 g
3 5 g S o S = | | | [= =
S 2 S .5 2 o <+ N N b~ B
T =& .8 ® § w S v + A % g =
£ 3 S & T <
ZRS B Rt s S o o <t o = mo
n © 2 %2 g °© X A X X + g 0 o, = —
x = S 3 B g ™ 0 ™ e o B © © ~ ~
v c [ .C o \\\\
< ~ s - - m ~ ~ ~ ~ w — »4&\&\\\\\\ ~ ~ —~ ~
=S B2l T @ = ¢ SIE lkid = 8 & ¢
0 o
S (=7]

P.T.O.
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A

100. Select a figure from the given four

alternatives, which placed in

the (?) -

Problem Figures :

(x)

Answer Figures :

1 @) @ @

(46)

100. 9 fRu W fywed @ FE-S

AT U ffed & WH W
ST ?
THET Bl -

(x)
FT APl

1) @) @ @

NTSE(Level-1) Exam. Nov. - 2018
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5.

10.

11

12.

13.

14.

15.
16.

17.

18.

Ul @ SR, SR USe A iR @WEi b drer/
dfc @ige U9 9 QUidar &l dRAT ®, il RG]
fegmar mar § -

£

WM BT 9 TR ¥ W) ®

© ® © @
I T W SITST WHI DI MR < & T AMUDT AR Terd
AT ST |

. X% B e gRAaEr W 59 WAie & forg &1 g el

ST TR B BN |

. 9l SR B OMR STR TP WR & 3ifbd B |

IR AHGES 3ifhd P | IR I8 B WA oD
(e degs) b1 T g B

.6 T p fov Ry U aR fieewt # ¥ shug

ffped & forg OMR SR W& W ddd b g
P A W We A/ H dd WEe W A W
T$ IR SR 3ifhd &I & 915 S dgal H8l off
FhT B

. et ghfea & & 39 SR wFS @1 drel 9 1Y

g I R B I FRIA A A e oA
IgFHHIG IR TG H uiRT W & «ifaRed o/ 7
ford |

e gRABT Td IR UFE BT S TANT TN, ifd
fdl ot aRRefT ¥ (Baet aem gRA®T vd IR U596 &
FAG ¥ e o1 R @1 BrsaR) ol e gRaer
e Syerer 78 Fvarg wrgit

. W gRAPT /IR TAS H Y T HHie DI gl wE

e 3 BN o H ford |

it BI WRIET B/ Pe § UAY Bl @ Ryara ey
UPR B IeIArEl, gied a1 sfalRad st 31 afir,
TSR, A3 BIF, Soideli—e UG AT fHdl 3 ThR
B WA BT S AT ST B DY SIART T 2

TS FRT Y8 O W UG gl U ydwr wre
RreT o) ey |

T JefleTd AT whded B fRIY SrgAfd & faAT @I
et U I T BIS |

Solde I / BN URbeId BT SUANT Ifid & |

e grad H ue gRA®T 3R STR UFd I B AN
AT T BN |

e T B W, IR @er /BT Bl ¥ Jd SR

TP HeT—UdeTs Bl 3aey AT < | angeft e |1 39
e gRABT BT o T Fhd |

FfF 39 UH-UF & dF R & forg ReiRa g dAifg
2, 9ol SHET AIFHaH FUANT BIY R & e
R 980 I T IR |

5.

10.

11.

12,

13.

14.

15.
16.

17.

18.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O o

The answer will be treated wrong, if it is marked, as
given below :

v ® © ©

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

. The candidates should ensure that the Answer Sheet is

not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.
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